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Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :
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Question Number : 1 Question Id : 51714411264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714411265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714411266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714411267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714411268 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714411269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714411270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714411271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714411272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714411273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144461
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714411274 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714411275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714411276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714411277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass
g

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714411278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂm.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714411279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144462
Yes

null

Question Number : 16 Question Id : 51714411280 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714411281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management

K:uogﬁﬁ QBgsTes

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714411282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714411283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714411284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714411285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714411286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714411287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714411288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714411289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714411290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

o8 Edcden:

FoBO) DG,
') doen b [Eren.
Conclusions:

l. All hills are ropes.

. No hill is rope.
1. Some ropes are definitely hills.

BT JTeN:

. SoBO) =T.

II. 2 §0cs S = 5.

1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714411291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714411292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714411293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714411294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %

Sub-Section Number : 4
Sub-Section Id : 517144463
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411295 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval

to replay(In Seconds) : 0 Allow Volume Control : No



Question Numbers : (31 to 35)
Question Label : Comprehension

Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
f1e0E: 180C Red 52060 Qadrerdio esdorr Q. 31 oG Q. 35 (294) ©%
QPN (POD0E.

In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.

2.8 D3 Az0H0, Hff Ao Sow: 1500, Haree e Hop;
1200 005 2r556) 250, D5 HTHOS 58 P50 9023 1808 2rETES
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Which of the following is the maximum?
808 ¢3S HBRN0 DO?

Options :

Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department

4w TR DerifoS i DoEsde> Hoays
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 T (2Pare)2d) doriden 0% e Gr. 257,508 25,000. (e
23060 T Q(2Fr02d) aﬂéé} ZD1R e 22650 T 6r.10,000. oSedTeN
Do 22 D0 TS0 earrzHBe Berds TOTH?
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L« 51%

s % T1%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007

W oy §I ot LE4
He3eb0, 235 DO 3R VO Aerzde dows, D), erareed
“ i = By B W, W, A ¥
SHOOSN EPOT BN S3eNHT DWEDO HoW Y, D0DODH JNTLD
0% 1008 S0 TR TP geb D) )0eh?
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i flomy
1.4
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
. HE3S A B
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

TS ST @TPHNOS’ 25% H0A DY) i 03¢5 )T°R8
AT2D3, & 00563508 T2 0EISR 40 06 DeTeHE) (5
P50 ST D0 O 3P5EE) @0tereneS Gotrs?
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ASCI| stands for ?
o). GoR.P.5.0 &b
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v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BIDD HoPS® b (RIS IEDGY

Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir 826 308 Sairth 350

Options :



Ministry of Education
g $00(@E0

Ministry of Finance

) @gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), éa’mﬁgﬁés’ﬁﬁn oolB&o

Ministry of Mines

4 % Ko oG
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RAM means ........
TPal &Mre

Options :

Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram
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The target year for achieving the Sustainable Development Goal is...
ReBe E:-éj&'ﬁe:@ e A=Y ﬁj&?&%é Lo Bo

Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels

5 o B0 ST [ 5;03}@ 25HHdes obdHoH



Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation

. (5505 B g6 Eéejmv LA 08208,
4, s

Question Number : 43 Question Id : 51714411308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e D EB%errred @Kh}éﬁ% BESED é@oﬁ} VYR fjﬁﬁﬁﬂéﬁa =

B arding (Herdédo 3@0&

Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004
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Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %

Question Number : 46 Question Id : 51714411311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative

4 % ﬁ&'\,ﬁﬂ‘jé_ﬁéé, éaﬁééé
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Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal



Question Number : 48 Question Id : 51714411313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
Options :

Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
@Cﬁ)}éﬁgﬂﬂ

Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel

4 % Bewa: BOLH

Question Number : 50 Question Id : 51714411315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
R0&05TSEY) (23ghesk, @’}e,’i)é&éeﬁ 50?&@3, Ejﬁg S5, & Bl ey DG

sy S ©EenTmoD.

Options :

Resource model
1 & DB Shoear



[tinerant model

5 % airlEe Sdurae
Both Resource and Itinerant models

580 sHBaSn S Surae
3. v

Dual Teaching Model

8508 8558 B
4, %
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What begins to decline with the development of division of labour?
GRS &eﬁmméﬁ@%éﬁ & B3 wodsn e‘.i].’%]ég [ardod oo

Options :

Mechanical Solidarity
SSo|BE Hodugrdsn

’|_ W
Suicides
pca .
5 % @eﬁ@h r’_%m
Collective consciousness
%.D & ;fi [
3 @ B0 ePE()T
Alienation
4 % SOPOIRESES
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Assertion [A]: Women are mostly involved in jobs such as nursing and teaching.
§E8m [A] 1 (Ren S $B)0tD, sarpuch HAE® sokrt.

Reason [R] : In our society, people associate certain jobs and professions with gender.
5880 [R]: 0 Hdreosd (Heen, Dored)) af) R ﬁﬁﬁgwm, )den Jsro SR



Options :

Both A and R are true and R is the correct explanation of A

1 ) fje*:,@éiﬂza, see30 Both Hégo. s°8Es0, (‘,ﬁqjﬁ)éfﬁaa @) DHBes

Both A and R are true but R is NOT the correct explanation of A
qﬁa@étﬁm, 5°8530 BotH Desah). 5o so5Es0, r‘,ﬁe‘}c’f)ét‘jsa ) DB DDdBes 57D

Only A is true
800 tﬁa@éém Sr|sah HBGHE

Both A and R are false

4 2 fjejg}éiﬂza, sees0 OOt DB st
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Johann Gutenberg developed the first-known printing press in the 1430s in
Strasbourg. Where is it located?

£508 138 B vk Andenre Fmer dholeR) 14306° ‘Strasbourgs® IuEem
ob 55 6B,

Options:

Great Britain
- [es (DS

Germany
5 mé@f&



USA
G0, 5. &)

France

4, % @05‘3
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How society holds together and what ties the individual to the society is one of the core
ideas of which thinker?
Dezsn Jee BDa soénod. af S8 Sirerds Ala é@i)é.nﬂ &0weDod’ @b

& 619D ests85%9 I e Sben
Options :

Max Weber
578y b

Emile Durkheim
And %S

G.H. Mead
3 % 2305, ASErS

Erving Goffman
28R RSSmS
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Who coined the term fourth estate?
aﬁ%:-eé 63-%&33 {mﬂ@:goaﬁémlﬁ E0\0DH6?

Options :

James Bryce
25 B9

1. =
Thomas Jefferson

, % TPED BS65S
Charles Marrian
P00 S0BEHS

3. = o

Edmund Burke
4 v VEHE mb8
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Which one of the following is Student Satellite?
& B930S OB Doy SBKSo

Options :
STUDSAT
P Tary
W 0
GSAT
Bares
2. ®
ANUSAT
3 % 0P
INSAT
4 % B
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To which of the following is Narcolepsy related?
mﬁﬁﬁﬁﬁg & BHS 7068 T8 Ho20HoIHH ?

Options :

Forgetting disorder
oSty Lorys

Excessive sleeping disorder

wdSorr QB0 Borfes
2.9



Frequent attacks of epilepsy
oty S8ore H39)e

Compulsive stealing habits

4% pORN0SE) G'oNEho weTrén
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Assertion [A]: Indian people have diverse cultures, customs, and traditions.

@ééﬁm [A]:ee58Ba (Heaen QY éo‘;&g&éﬁ}m,@aﬂmm, solRmediren EOR &oérd

Reason [R]: There can be no unity if there is diversity.
so8w0  [R]ie do e adso soi.

Options :

Both A and R are true and R is the correct explanation of A
| % AR Do 35BS, R, A Gng) SB@E Dt

Ais false but R is true

$B@HE o, R HBGHEH
2. %

Both A and R are true but R is not the correct explanation of A

5 » ARDo® $BEHE, R, A G HBGHH DB s°i

A is true but R is false
4. Aéﬂ@aéﬁ‘} R ﬁ&@s’a& =LInY
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is an assumption about how two or more variables are related

-

Bot 8K V&S Serodren o dorr Hoaogio EHA &356&55 Benad) ST
Options :

Hypothesis

-t oY
1@ D}ﬂéﬁwé

Correlation

wlh, mif

s etalelatan)

Sampling
3 % 2563 SSarian

Reliability
E’Jé&ﬁ@o‘ﬁjé
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Which of the following constitutes a social change?
BIHD E® DB FeBE Kredy)?

a) Change in demography
e3P dlR) Srtnyen

b) Change in technology
PO set)en

c) Change in norms and values
QEHSTen, Dended S vilev)

d) Change in social structure

FoBE DEBE® Kty

Options :

aand b but notc
a snBadiw b, 520 ¢ s°tH

aandcbutnotb
a s08diw ¢, =20 b 52t

a,b,c andd
a, b, csobcin d

a and b but not d

4 % @08dw b, 527 dseth
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Who wrote ‘Chrysanthemum and Sword’?
1Barossng) Hbasn Rjﬁﬁiﬂg 0 BDoARNBT?
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Ruth Benedict

Gre S0R%
1.4 -

Harriet Martineau
. seBche éj"@‘nﬂjog

Irawati Karve
2058 S"éﬂ%

Anita Desai
edSaa0n
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What is the German term that means to understand, perceive, know, and

comprehend the nature and significance of a phenomenon?
2.8 r‘ﬁe}ﬁg{wﬁj QegPsin, @Da’m%é @go BB, (6506, BenE e, (SroDHisn

ﬁé@ﬁ STt

Options:

1 % Gemeinschaft

5 « Verstehen



3 % Lebenswelt

Zweckrational
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The positivist approaches operationalize variables as ____ data
Serodeid Eﬁaﬂé@é cﬁaéaj{pvm, Sepatels F0enD S BIHD orER0dam ©0othi.

Options :

Qualitative
ﬁ}ﬂ&ﬂéﬁ@é
® ;

Qluantitative
ﬁﬂa’njaavr’_%é
2. ’

Inductive
IR ev))

Deductive
DRE0H
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Which of the following can be avoided if both material and non-material culture change
with the same pace?

FaK, FasGrE Soyd of K08’ et Jo88 & BILS TRR ©fKoSS)
Options :

Cultural exchange
FPopdE HHOHEM

Cultural Diffusion
%D"J}g@ﬁé ﬂcﬁ}n

Cultural lag
Po8E woiigo

Cultural phobia
ﬁﬁoﬁg@éﬁé &ohHsm
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Who among the following has given the concept of Paradigm?
arPTPGa) EPHRN DEBHEDHH



Options :

Thomas Kuhn
1. ¢

> % Anthony Giddens

3 x Max Weber

4 % Stuart Mills
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Who is the author of the famous quote * Workers of the world, unite™?
& (HF 8% ot ED 0D DG o5 B HBE" ?

Options :

1 ¢ Karl Marx

Friedrich Engels

Viadimir Lenin

Leon Trotsky
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Which of the following statements is true about SMOG
SMOG 5809 & &0 HdrSHes® 28 HBEe

Options :

SMOG is derived from fog
56 fog Sob &HDoDHD

1. %
SMOG is derived from smoke
=20 &K o ﬁ@gjo&é}
2. %
SMOG is derived from water vapour
20 08 0B Hob 6H)dohid
3. %
SMOG is derived from both fog and smoke
4 ab fog shbdin &K Hod ﬁcﬁa}&oiﬁs’m
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Which is not a form of social stratification?
20HE° DO FSreRbESD °H?

Options :

Religion
| 3085300

Class
s« SONS

Caste
“ Besn

Gender
N 3 [eTatahy
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In which of the following does gender stereotypes become more apparent
80D 0S* BS® Dors Ko SEdhen QST EIHT0m.

Options :

Dressing
toren Hbohés

1. %



Leisure Activities
QoS seigEren

Professional choice
)BNY aoaBen

All of these
2B
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The Santhals is used to call the outsiders by which of the following name?
Hode), achey 7 & DHE LOTarH?

Options :

1 ¢ Diku

Dayan

Kayali

Damin
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Who coined the term Diaspora?
tﬁﬁmﬁ;,m @0 550D @3@@&&?

Options :

Thucydides

5> % Acrion

Aedesia

Democritus
4, %
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Match column-| with column-Il and choose the correct option.
KBEHD AN JohE ooty a.8hD S’ B Bokd HHE’D rHS°

2sefantedngin
Column - | Column =1l
a.  Diffusion . Spreading of cultural elements
a%50) 088 @odned g Bakoes
b.  Assimilation i Substitution of non-aggressive attitudes
for the aggressive
PVt rEth é@ég,:ﬁmmeéa HrEth =0 a8
[Daegsmchanme &0
c.  Accommodation . Fusion or blending of two distinct groups
98 BB Both Jagy dimsraned Sensdl, dlEhin adiné
d.  Sublimation lv.  Tertiary cooperation
@ﬁm ée}e@ciﬁa SeEcEetan)
Code:
&%)
Options :
- a-iv b-ii  c-iii  d-iv
a-i b-iii  c-iv  d-ii
2.
3 % a-i b-iv  c-iii  d-ii
4 % a-ii b-iii  c-i d-iv
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Which among the following is not the work of Michel Foucault?
& 8193 IS DB HES F¥5ey & B

Options :

Forms of Talk

A I ATN VS )
1.9

History of Sexuality

BoRES SB(S
2.

Madness and Civilization
E}%éé‘g}m, e ptatel=t:]

Discipline and Punish
Bao8Ees, 85
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Which of the following religion is most widely practiced in South East Asia?
t58gs S8 Sralovalol Q&R Edath Hékn

Options :

1. Islam

Zoroastrianism



3 % Judaism

Manaism
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Who founded the ‘Religion of Humanity?’
BPHDEE) HSH0' 5;3)@&&&.

Options :

1.« Auguste Comte

5, % Emile Durkheim

Claude Levi Strauss

Sigmund Freud
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Which of the following features are considered as critical in qualitative research?
& 8105 ofrod® 2 s 588%5%5% BosRRd?

Options:

Collecting data with the help of standardized research tools
BSrBEBosnaS HBeb S HDHmE SSeahHos® ol DS,

Design sampling with probability sample techniques
QD0giamE)E (H8B0ND 'évoéaéa’)}iﬂéa’m@éﬁ v PSEEInTevitatay

Collecting data with bottom-up empirical evidence
B0B H008 P8 ©RPFDIESE FEEWS® Sarod HESH

Gathering data with top-down schematic evidence

. x 2008 (Bob8 FrBE FrEiEn arwe Serod w8
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Which of the following is the system in which maternal uncle gets prominence

in kinship?
% BIHD écée”ﬁ@ﬁ mocﬁaé@me_‘%ﬁ BTN (g':‘:ﬂaﬁn)méé B,

Options :



Amitate
1. %

2 % Couvade

Avunculate

« Teknonymy
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The Tebhaga movement of 1946 is associated with which among the following current
states of India?

& (806 (e grtses m@@éﬁ ) m@o%ﬁ Bararre’ 1946 &tfgEo dndHé eob.
Options :

Telangana

1 % SO0

Chattisgarh
, x $BOKE

Orissa
2,0y



West Bengal

SLy 2ol
4. &
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Match the following acts or rights with relevant statements:
& BIHS Sepen S Pt HSomohd [H8arEies’ Solob:

1) Children Rights A) In case of child marriage the person can face
imprisonment for 2 years
aroe SPEpe arey AT le R 588 2 Doddrre Ben
88 ﬁmmﬁ
2) POCSO Act B) The right to education
BP%) Sty ors S8y
[
3) Prohibition of Child C) Imprisonment for 7 or more years
Marriage Act depending on the severity of crime
o dardr Dalfim 36 Aps 2 7 Soe 5D Doddyore Ben
88 DBoBH
4) Immoral Trafficking Act D) Protection of child against sexual abuse
w368 ©lEH Sarwe Sin BoAE Joxe Hod aroe BEm
Code:
§&):
Options :

1-B; 2-C; 3-A; 4-D

1-C; 2-D; 3-A; 4-B

3. %



1-B; 2-D; 3-C; 4-A

1-B; 2-D; 3-A; 4-C
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Father is a term in kinship
moéﬁaé&o@s 0|8

Options :

Descriptive
@émméﬁ@éo

Classificatory
a’}ééaﬁm

Secondary
&»&@dﬁm

Tertiary
é@j@dﬁno
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Who has the right to decide who will be included in the list of Scheduled Caste
and Scheduled Tribes?
ks Hodn, e SKed® Tt 568 Ky 4B,

Options :

Parliament

ar8s300n
1.+

President
Faranle oy

Supreme Court

8
3 % m@ogsfj:lu

Governor of the state
Dﬂ@ gtaleifey

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Tippet table refers to as
f:ﬁjajéf HBE oS

Options :

Table of random digits
dﬁ;ﬂiﬁ&ﬂ&é @086l Eﬁ%é

1. %
The table used in sampling methods
 [H8ScHD Do’ aHd@rfod HBY
2. % @ e
The table used in statistical investigations
Kero8 £5d06® ah@rAoD HOE
3. % -
All the above
=y
4V 2D
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Which of the following is not matched correctly?
& B 08 Db Jbrr $BHED

Options :
Article 338-1: National Commission for Scheduled Tribes

tﬂQéﬁ 338-I: T"altﬁjagn*_g B0t =ohch EHaS



Article 330: Reservation of seats for Scheduled Castes and Scheduled Tribes
in Lok Sabha
@Qt’)ﬁ 330: &°E5eses _;155.305@&} Heosnes, 1-,6\133@8 30 Hen es%ea

Article 333: Representation of the people of the Anglo-Indian community in the
Legislative Assemblies of the States
@B8S 333: vlape TIPS @Ol molabS Jie Hao EradyoD

Article 331: National Commission for Scheduled Castes
o85S 331 : Aren Heodwe a8ah Kby
4.
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Match column-| with column-Il and choose the correct option.
2. E60% S wodinedh Bokd SHHEM wodines #8589, $8rr JobE Icndn

Column - | Column =1
- | - 1l
a. Pierre Bourdieu . The Field of Cultural Production
FOSYHY &8 [HAH
b.  JurgenHabermas i This is not a Pipe
30 2 5
C. Anthony Giddens iil. ~ Onthe Logic of the Social Sciences
s Flre 860
d. Michel Foucault iv.  The Consequences of Modernity
Eég)éétg?'.g) 2Bezaen
Code:
896!

Options :



a-iv b c-iii  d-iv

1. %

a-i b-iv  c-ii  d-ii
2. %

a-i b-iii  c-iv  d-ii
3.¢

a-ii b-iii  c-i d-iv
4, %

Question Number : 85 Question Id : 51714411350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

In which city was Karl Marx born?
52§ Sr8p 20D,

Options:

Berlin, Germany

1. %

Trier, Germany
2.«

Paris, France
3. %

London, England
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Who among the following has made use of the concepts, ‘indexicality’ and ‘reflexivity’ in
his theory?

h ?amgoéméﬁ S, [}.’Jé’éiﬁoéédm e dndrfododd.

Options :

1« Harold Garfinkel

Thomas Luckmann

3 % Alfred Schutz

Erving Goffman
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Which is related to Article 330-342 of Indian Constitution?
artiés U"ﬁ%@ﬁ@@ﬁ e&%ém& 330-342 o% HoofodH6.

Options:

All India Services

- ﬁof@ﬂg et mden

Election Commission
.:I}@ééj ST

2. %

Village Panchayats

3 % D HozrchBien

Reservation and representation of Scheduled Castes, Scheduled Tribes in
LokSabha

&5 Hasesd Argen  BoswoB, Eren 8o (@8RG5, BEes
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Assertion (A) : Caste system is prevalent in Indian society.
tﬁej‘gjéfﬁca (A) : gr8s Hoeos® B écéa (Haeore &ob
Reason (R) : Social exclusion reduces poverty.

5280 (R): Jesir oisronos) orblongl) SAK06

Options :

Both A and R are true and R is the correct explanation of A
AR Both HBahisa, R, A Gint) $SBGHE DHBe
1. %



Both A and R are true but R is not the correct explanation of A
, % ARBoH 3BG@IS, R, A G 5B@Dd Dbtses

Ais correct but R is wrong

L o ARBEIB R &)

Ais wrong but R is correct

A $5) =20 R HB@Dis0
4. %
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Which one among the following statements is false in the context of participatory
research?

TR BEYN Soig)os’ % B [HearKed ab KEEKE i
Options:

It recognizes knowledge as power
©b apoed)) & H8500

It is a collective process of inquiry
@b Dorbes D) wrdrerd (HBdh

It emphasizes people as experts
@ (Hezein Odmene &ordnod
3. % =



Its sole purpose is the production of knowledge

4@ TN 008 ﬁé%ﬁ:ﬁm 0 653
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Who is often described as the ‘founder of structuralism in anthropology?
Hrids FHos? DoerE8tn SEHBme St oM 58

Options :
- EB Tylor
5 Franz Boas

v Claude Levi-Strauss

Bronislaw Malinowski
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Which one is called non-probability sampling?
628 B ROgrRE)E [DSBcHDIW

Options :

Quota sampling

v o B850H55

Cluster sampling
H:aéh‘j (BT Bafovhiatavy)

Systematic sampling
[_ézﬁamg ESEEMwTonvEataby

Stratified random sampling
288 cIrgihE (HSUCHDIW

Question Number : 92 Question Id : 51714411357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

What is the focus of structuralism?
ﬁ)m&mﬁééé cﬂné& 65;,%}1

Options :

The unconscious mind

oy v,
1% S el 85085550



Observable behaviour
NPl o ﬁﬁn)é (2288

The structure of the mind
éj?ﬁ‘&i:ﬂ ﬁmé& KJEE@E&

3.¢
The power of rewards and punishments
. Daoanebe, 350 €8
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Which of the following statements is correctin the context of research?
568 Hotsg)08’ & B0 RE° O [HBaRSS HBEHHE?

a) Research refers to a series of systematic activity or activities undertaken
to find out the solution to a problem.

SBE ST e a8 SEVSERSlayglen) B0 a5a@rhod (Baatahid
v Gl S50 (Beaven

b) It is a systematic, logical, and unbiased process wherein verification of
hypotheses, data analysis, interpretation and formation of principles can be
done.

b o8 EDadDs, 0, WE, &8 (HEdD. B08° 58D HBrHE
Se0¥ D3, 8, SrEre dontn TahSHD.

C) It is an intellectual inquiry or quest towards truth,
o, D8 rgod’ B Db, 53
d) It enhances knowledge.

©f =y 5 35008
Boooeg =
Select the correct answer from the codes given below:
KBTS asarad &% Bod 8Ge Hod Jobh¥ Sdndn:

Options :



a), b), c) and d)
a), b), c) s06a5w d)

a), b) and c)
a), b) snbasn ¢)

b), ¢) and d)
b), ¢) s0Bciw d)

a),c)andd)
a), ¢) sobaso d)
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Which environmental movement refers to as Greed Game Political Populism by
the environmentalists?
D SOt Si5ERR), Sotn Sden, HHeE b tErhch Eitoatdre SrORS

Options :

Narmada BachaoAndolan (NBA)
Kjéécjﬂ e’ s06°%S (NBA)

Silent Valley Movement

28085 B ELSD
2. %



Appiko Movement

3 % @33555 ﬁcﬁé‘oﬁjm

Jungle BachaoAndola

2300 Do’ @wolPES
4, &
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Gandhiji's "The Story of My Experiments with Truth" was originally written in
Gujarati. Who translated it into English?
rofd "Ve08 e (HArre &5 "% nEBF0m HersS’ ath IR sohns™s

s T30,

Options :

Maganlal Gandhi

Mahadev Desai

Laxmikant

4 % SushilaNayyar
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Which of the following is true for the F-test?
"F-588 " & & DD 08° D6 $8@Hs.

Options:

Is essentially a two-tailed test
Soogore Botd S%e ﬁ-ﬁé

1. %

Is essentially a one-tailed test

Sgorne 2.8 S ;’iég

Can be one-tailed as well as two-tailed depending on the hypotheses
v 20BN einHbod el P8 5°3D) Both S¥eb SN

Can never be one tailed test
o8 &% 568 9588 =
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What is the name of Dr. Ambedkar's memorial site?
oo, 0B )5 B8 (HEHo HH ?

Options :



Samta Sthal
wsnEe ‘{5}5

Chaitanya Bhoomi
355 2580

Veer Bhumi
a6 FAVEAY)

Buddhist Bhumi
E%C}D% EAVE
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Which of the following was started in 1973 to save the evergreen tropical forest in
the Palakkad district of Kerala, India from being flooded by a hydroelectric
project?

F(E08E e $88 Hoé, aobdire” S8¢ o) Sosmh 2o Ay SR

&xiholle eBminid $godbi® 1973 & (B0 DH.

Options :

Chipko Movement
1 % D8 edgEen

Silent Valley Movement

28085 b &igEven
2.



Appiko Movement

- E:-E}u:-,gf’ éﬁﬁ(ﬂsa’ne_}a

Jungle Bachao Andola
4 % @0fS DS’ @0’y

Question Number : 99 Question Id : 51714411364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who has propounded that “the primary groups are the nursery of human nature"?
EPRS (5588 (ronE Sshreren 800" o [HOFBONKH?

Options :

Charles H. Cooley
4

George Herbert Mead

3 % Ralf Dahrendorf

Karl Marx
4_ W
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Match the following

asef D050
List | List Il
a. Bihu 1. Tamil MNadu
ARG B0 ETtD
b . Dandia 2. Maharashtra
Ho&aim Eﬁn&#m@
£, Kolattam 3. Assam
&hesta0 E‘J%‘Dﬂj[:
£
d. Tamasha 4. Gujarat
H5mar roesTrs
Code:
@Etj:
Options:
a-1 h-2, ¢33, d-4
1. =
a-4 b-3, c¢-2 d-1
2. %
3 ¢ a-3, b-4, c¢-1, d-2
a-2, b-1, ¢4, d-3
4, %
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Match items in column-I with items in column-Il and choose the correct option.
2,865 SHE%) wodined Bokd $HHE%D wodsines® 2858, KBr JohE Jomdn

Column - | Column-1lI
D= | D11
a. Karl Manheim i. Power
4
b. Alfred Schutz ii. Sociology as Political Education
cebah Difre PrEs G
¢. Michel Foucault iii. The Structures of the Life World

208 [Hido ABysen
d. Brownislaw Malinowski iv. Sex and Repression in Savage Society
&r8 SEreing® 8, HB0h ©nddd

Code:

&5&y:

Options :

1 % a-iv b-ii c-iii  d-i
5 % a-i b-iii  c-iv  d-ii
3 % a-i b-iv.  c-ii  d-ii
4 a-ii b-iii  c-i d-iv
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Religion, marriage, family, caste is example of
0w, Darsdn, Henondn, Hodn B8 68 En

Options :

Social values
o DendHen

Social institutions
eoSng Jogen

Social norms
Srodn¥ Qafesmen

Social segmental division of society
S&resy Jrosng el wotidn
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Which of the following is known as the “Clock of ageing”?
éejmgﬁé falatervi ety

Options:
Pituitary
e



Thymus

5
v @

Thyroid

3 % goroné

Adrenal
E&éiﬁd‘@

4. %
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DDT and Aluminium cans are examples of
EEB, weargibldiro ermen B8 aoedees

Options :

Primary Pollutants
@rgdnE seensyy seBseen

Secondary pollutants
ExBah srensly seBsTen

Biodegradable Pollutants
25 ©6%8m Bod siseen



Non-Biodegradable Pollutants
25 &%8m Dok soBsren
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Durkheim’s study of suicide helps us to understand
CRIRGEAOFS B6EarsD wigadito B @goémgﬂmaé Rerahithehob.

(a) Society's hold over the Individual
582 Saress) éﬁnm

(b) Individual's hold on the society
Rares0 g 858 Hép

(c) Suicide rates of various societies

AL HDAEzme @é@&’}ﬂé{ﬁs HeFrosReD

(d) Degree of social integration of a society
Ddresy Hodn modde %;c:m

Options :

(b) and (c)
(b) 206dw (c)

(a) and (b)
(a) SobBoin (b)

(a) and (d)
(a) snbasn (d)

(b) and (d)
(b) So8350 (d)
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When did Hindu Succession Act 1956 come into force?
8Ot PBHE) 5%0 1956 eiven &8 DN

Options :
17 May 1956
w17 H 1956

17 June 1956
17 22=5 1956

1 March 1957
1 a‘mﬁw 1957

17 April 1956
17 5 DS 1956
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Which of the following techniques is used for reducing the fotal dissolved solids (TDS)
in the water?
ﬁ]é_&e‘iﬁ oo BOAD i ;;35005@26) SHoDHOD 6 Posad (HBdh

Options:
Osmosis
esBR
1. #®
lon exchange
©cha St G
2. % =
Distillation

3 % ?ﬁéﬂﬁ?ﬁéﬁ)]

Both 2 and 3

2 2 B 3
4,
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Match items in column-l with items in column-Il and choose the correct option.
565 - B9 wodsne, S8 -l ) wodsned® 2432 JohE Sonkn

Column - | Column = I
D -l B -l
a. Snowball Sampling .. Sample based on predefined fraits.
oh 208 [HSSaham mothire MBonodd oFEre wgrdd (HSSchPam
b. Random Sampling ii. An equal and likely chance of being selected
in the sample
cﬁjocﬁ;_fjl:jé Pt foniatary 8500508 Hirtore doh¥ FNEHat edsedhn
¢. Stratified Sampling fii. Dividing the population in to small groups
20 [HaScDidem EPgP D8 Sfurdrenr Jg@ohe
d. Quota Sampling Iv. Subjects recruit future subjects
8% (58chidim i 6D Bihen Dok
Code:
&%)
Options:
a-iv b-ii  cHii  d-i
1.4
5 % @&l b-iii  c-iv  d-ii
3 % a-i b-iv  c-iil  d-ii
4 % a-ii b-iii  c-i d-iv
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Match items in column-| with items in column-Il and choose the correct option.
5605 -1 B8 wodsmeH, 555 -l 8D wodinesd 243D JohE Icndn

Column - | Column =
N5 -l D -l
a. Conurbation I. Robert Redfield and Milton Singer.
500@3&1&5}
b. The Urban Question ii. Patrick Geddes
Dée (%)
c. Pre industrial jii. Gideon Sjoberg
Vale] G ANt E@Diﬂéﬁ'}n
d. Cultural role of cities iv. Manuel Castells
HEFEF) #o‘é&&é ae(es
5 :
Code:
@E{J:
Options :
a-iv b-li  c-ii  d-i
1. %
> % a-i b-iii  c-iv  d-ii
a-ii b-iv  cHii  d-i
a-ii b-iii ¢ d-iv
4, %
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Which of the following characterizes ageing?
X)J%ﬁgﬁ}& 50006,

Options :

increase in the consumption of oxygen
o8z DA@PRINSE® 2HHSe

increased anabolism
28RN eagrardezo

increased metabolic activity
2005 258 (D18

a decrease in the metabolic activity
SHD B58a5e (HBcH
4.
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Who has propounded the theory ‘Duality of structure?”
VB Bwg) SrotkEo’ & (H8arB0D0b.

Options :

1. Anthony Giddens

5 % Jacques Derrida



Fredrick Jameson

Michel Foucault
4, ®
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Match the following:
e B0dm

Set | Set I

a. Narmada Bachao Andolan (NBA) 1. Medha Patkar, Baba Amte, Adivasis,
farmers, environmentalists, and human
rights activists

o) DS woltES Bl ar&nd, avar @é@’ ebdarien, OEen
Mlepialels Sden, Sed e 5588
b. Silent Valley Movement 2. Kerala Sastra Sahitya Parishad (KSSP) an
NGO, and the poet activist Sughatha kumari
28085 & 6o S8¢ T pira SBS, e (Hehstos”
éo?«é 0Bk 88, 525588 dgree Hilied.
¢. Appiko Movement 3. Uttara Kannada and Shimoga districts of
Karnataka State
@339}55 6o écﬁgé}é m@o@ﬁ 688 B, e Sepen
d. Jungle Bachao Andolan 4. Against government's decision to replace
the natural sal forest with Teak
206 s eob Hipe: P B BoHE @gu@ alal
Soin (Hghek DEAERB G&vEomr
Code: SR %
8&):
Options:

L al, b-2, ¢3, d4



, w a4, b-2, ¢3, d-1

3 % a3, b-4, c-1, d-2

a-1, b-4, c¢-2, d-3

Question Number : 113 Question Id : 51714411378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In which year did the Indian Parliament pass National Rural Employment Guarantee Act?
2 Yoo apfictr (eibe &6 b Sépl) A¥Botn wofiBodob.

Options:

2002
%

2003

1997

4 2005
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The value of goods and services produced by residents of a country and the
value of their property is called
a8 B85 Darheben 663 3% Hhde, mde Dend HBAW 70 tﬂf&m:]@ enid

Options :

Gross domestic product
dre ng.low 63 ©obrd

1. %

Net domestic product

5w VB8 38 &8 wotrd

Gross national income

Ao ep8cdH esechHo ®otrh
3. @

Net national income
4 % VBB er80%H emrdhHo wotrH
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According to 2011 census in which state of India resides the maximum number of
tribes?
2011 exrgp B FHeebo moBarE®) O U':'@‘O@E' 163 8rfen ASHFB.



Options :

Madhya Pradesh
- laly Bl

Nagaland

, % Tereerot

West Bengal
358 Bord

None of these

L 259 =5
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“‘Caste is a Brahmanic child of Indo-Aryan culture cradled in the land of Ganges and
thence transferred to other parts of India”. Whose statement is this?
Do hi sroh-ubs Foiyss [@:mEE 88 Ko 58 &ches® 28R

308056 vkl U“@;@é] 208 Zﬁciﬂ)eacé& 30 ©RD.

Options :

1% D.P. Mukherjee

M.N. Srinivas



G.S. Ghurye
v

L. Dumont
4. %
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Which are the three dimensions of social stratification as referred by Weber?
Db edtnrr, Sedrds ﬁtéééésa Broden Sith 287

Options :

Class, caste & estate
aBNa, Hodw, DoNY

Occupation. Hierarchy & income level
B, e [Baoain, e&mcﬁaﬂgoﬂ

Power, Prestige & Property
58, (8%, o

Class, ethnicity & gender
$5196, &, Honsin
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Which of the following can be included in superstructure?
B WGBS’ & BI0D o0 DD BendSiin?

a) Mode of Production
&8 DGrdam

b) Political Structure
orezdat K}ﬂée?

c) Values
Senaen

d) Culture
ﬁo‘é&@e’_’%

e) Economy

©08 3355
& [
Options:

1 % ae
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The concept “Culture of Poverty” was introduced by:
DESHD) ‘éoéej@re’ﬂ ARV N @ﬁé@%?ﬁ&

Options :

Oscar Lewis

Michal Harrington

2. S

Walter B. Miller
3 ®

Kenneth Little
4. %

Question Number : 120 Question Id : 51714411385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What are manifest functions?
Efjnj‘@ Qoen eRdmre?

Options:

Unrecognised and intended consequences of a social action
ped 3585 Ped, Hiodnid, ﬁé%o;’im&é SHBegeaiomen



Recognised and unintended consequences of a social action

- PSR E 385 Hod, Hiodaés, éé%@ﬁmtﬁ?& Begeaien

Unrecognised and Unintended consequences of a social action

3 % el 38 Hed Hboaii, ﬁé%oé&-éﬁ] HBegeRen

Recognised and intended consequences of a social action

P rErRE S8 Hed miodads, ﬁé%e;’}m&é HBezeETen
4,
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In which book does Parsons outline his AGIL paradigm?

D HHgos? B0 &5 082S eFeed)) BT,
Options :

The Social System

PR 558
1.4 w

Essays in Sociological Theory
eSrEE Qoo aFIreD

Towards a General Theory of Action
2.8 S8 rgrtes ?;:Jt::geéo SE)

4.+



The Structure of Social Action
P Wil 3585 083

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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In which year the Forest Right Act was passed?

o DoBEBo @by Ty &0 ©o88BoSnéob.

Options :

2000

2006

2005

Mone of these
238 5°%)
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Which approach is linked with the emergence of Industrial Sociology?
arB(EPENE HaireseiiEin @3}035’3055 Do BoHl BE\&o

Options:

Scientific Management Theory
FQOH OiPessiR)g VTROS0

1. %
Personnel Management Theory
Qepob diresdrdg K}m;oéo
2. %
Human Relationship Approach
3 @ 28 HDoodd tﬁejénjcﬁén

Structural Approach Theory
) ﬁ]ﬁéﬁﬁ tﬂe:,éa}qﬁ‘;g} ?ﬁmgoécﬁn
4.
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Assertion (A): The Indian Constitution was heavily influenced by the US Constitution.
qﬁaﬁ]étﬁm (A): gri5e Tramgonion dfin.dR. oaERgol [BHgdo Qs od.

Reason (R): The framers of the Indian Constitution were inspired by the ideas of liberty,
equality, and democracy enshrined in the US Constitution.
w80 (R): ain.a. oremgoK dx@old B, SEmdsio, Perinod’ grdd ool

Qo) (@88 Somd.



Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).

(A). (R) Both $BGSI, (R) . (A) BnE) SBGS e
1. %

Both (A) and (R) are true but (R) is not the correct explanation of (A).
(A), (R) BotH $8305, (R). (A) GIng) HBaHY DHBes 5°thH
2. %

(A) is correct but (R) is wrong.

. (A)S0@EH. (R)SODBB 59
3.

(A) is wrong but (R) is correct
(A) 2BchAB 52t (R) HBGHEE
4,
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Assertion (A): Fundamental Rights, protect citizens against the arbitrary and
absolute exercise of power by the State
fﬁejﬁ‘;ééca (A): gk 0B8R, doirg efsto Hob PO [@rHiE e
BEes E8yrom
Reason (R) : the various minority communities expressed the need for the
Constitution to include rights that would protect their groups.
5800(R) 1 DY we) Hoggs Sopen, Uuavagoﬁo@f" a8 Jsrare B8RS o808

e grothaded iRletgey

Options :

A is correct but R is wrong
A 38ahdd R HBGhd6 st

1. %



Both A and R are wrong
A, R Bo&h HB8ahdd) so8)

2. %

Both A and R are true but R is not the correct explanation of A
;A RBo®H IBGS3, R, A Gng) 0G0 D s

Both A and R are true and R is the correct explanation of A

A, R Both HBG&S, R, A @t SBGHH D58
4.
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Which one is not an indicator of Human Development Index?
USRS 5edHB D6 SrdE =oth?

Options :

Life Expectancy
Eﬁoﬁntgéném

Education
2. ® Qg

National per capita income

. 2D SO0 esrrchHm
3.



Level of urbanization

%8888 arom
o ) &
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Assertion (A) :The French Revolution had a significant impact on the world.
c‘,f@ﬁ&étﬁea (A) : BS0k0 (08 VB0 KeerddhDd [Hardo &ob.

Reason (R) : The French Revolution inspired people in other countries to demand
democracy and equality.

5860 (R) : (305 Do, add BPe ([Heob Herargng), Sdrded) 850
(3:6%0908.

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
A, R Both $Bc0d3, R, A GBnd) 58S Hdes

1.¢
Both (A) and (R) are true but (R) is not the correct explanation of (A)
A, R Both $Bahda, R, A G $BGHS e 5ot

2. ®
(A) is correct but (R) is wrong

3 % A 328abd6 R H6aHa6 =oth

(A) is wrong but (R) is correct

o ASBIDRB st R SOISH
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The use of biological explanations in the analysis of social situations is
V] ;‘iﬂ?geﬁ)@ & d5d00t DB ®otHth

Options :

Biologism
1.4

Biosphere

Biotic

None of these

238 55
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Who wrote the famous book ‘Folkways'?
PE BT 0D (HHG JodD HPs Y BDoDBH?

Options :

1. = Merton



Maclver
2_ W

sSumner

4 % Albert
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According to Durkheim, anomie is caused by
%605 [Hzedo e sdmo

Options:

Division of labour and rapid social change from traditional to modern society
Folmrah Hdrao o8, S8 Hrad8 (FmE Dafed, ﬂﬁa’noé@é ANV

a’:oﬂtiaﬂ
1.9

Too much pressure from the state
gDe&0 ol «fHE 2.8

When poverty is eradicated from a society

5 % DEreo Hob DSy FrYIEtDSH®

High educational attainment of a group in a society
SEremod? a8 Doy ©bY D5 ErotSe
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Which of the following are Negrito tribes?
B26° HB IR 3ren

a. Onge
b. Nicobarese
c. Jarwa

d. Shompens

Options :

;% b.d

4% Al
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Who has considered ‘modernity as an unfinished project’?
55}36655&’313 V0P PEY) o

Options :

Jacques Derrida
1. %

5 % Anthony Giddens

3 % L. Althusser

Jurgen Habermas
4. v 0
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Assertion(A) : Investing in human resource development is a long-term strategy for
economic growth.
Eé&ﬁ)étﬁs‘a(A) T 3D ke &J@Eﬁg@% ?,Jé:gm&, @Q?&é&%g &gjsvr;} Bfgds

Reason(R) : Developing the skills and abilities of individuals can lead to higher
productivity, innovation, and technological advancement, which are
essential for sustainable economic growth.

5680(R) 1 Q8D eBEYBE wIODO 6i)E 6BUES, '8 Soy, FoSaE 2y

ofoide Shewegen. ﬂﬂaﬁm&sm @&6’3&% DBHE Hoid

Options :



Both (A) and (R) are true and (R) is the correct explanation of (A)

| v ARDoh ¥B@DD, RA Gng) B Hbdes

Both (A) and (R) are true but (R) is not the correct explanation of (A)
AR BoH $8@ida, RA G $BGHE D56 s0th

(A) is correct but (R) is wrong
A DBahHd R H0abhdd st

(A) is wrong but (R) is correct
A D8 st R H8ahdd
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Which of the following work of Ghurye analyses the caste system in India?
0005 Gt @) @oEHn BOBAEFER He 558 DFes Tod.

Options:

Homo Hierarchicus: The caste system and its Implications
arear [Birmioniso He E’Jg@l tR) DEpen

1. %

Untouchable
2 % ®0otrBASH0

Caste and class in India

3 % 208056° Hedn, SBKS



Caste and Race in India
2080567 Koo, 8
4.
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Which among the following implies array of roles?

OIS e’ 08 adrge (A Srdkod?

Options:

Role Conflict
arEe Hogndgs

Role Strain
arlge (DD

Multiple Roles
2:70¥ ardien

MNone of these
238 =5

Question Number : 136 Question Id : 51714411401 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Libido is
DDED e

Options :

Social force
PR é_én

Life Force
AL v‘é_éﬂ

Physical Force
g'a8 58

None of these

2380 5o
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Pierre Bourdieu's theoretical perspective makes use of the concept of capital.
Which of the following is not a part of this concept?
56 26 s, ?ommmeﬁ DHBeastn Surerdd i sHdrAdon.

& 055 7P DO eagrBdS? erridn =0t 7?

Options :



Economic Capital
@Qé Sreertdian

1. #®
Political Capital
oresdoie Sretsdsn
2. ¢
Social Capital
rras Sretddsn
3. %
Cultural Capital
4w o[B8 SueedsiSsn
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Gender Performativity was presented by
Dol§ HVH%HD (HSTrBoSH

Options :

1 ¢ Judith Butler

5 % George Homans

Sigmund Freud



Maslow
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Which of the following sociologist proposed theories based on his fieldwork in Kabeley
society?
& BIDD & PErdd (HOFHE’ REROEReD 0D SOD Sireod a0HB S0P

Clage FhiAl
Options:

1. % Manuel Castells

> » Raymond Williams

3 ¢ Pierre Bourdieu

4 % George Ritzer
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Which of the following is not included in social structure?
TSRl GBS Lodd & BIDD O6?

Options :

Social institutions such as family, government, education, and religion
Eotnozim, (H4bégn, Dy nban shesm Hod Rl éof@:tn

1. %
Social hierarchies such as class, race, and gender
) SB8KS, 228, Dordn Do FPirRs Jtaroren
Social norms and values that guide behavior within a society
3 % Dresod® HEHA ﬁ}vgiﬁégéa Josn Fdred dardren, Denden
Natural resources available within a society
Sdmezof? &) Dres HdBen
4.
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Name the author of the book, ‘Rise of Network Society’ from the following:
& B9 IS8 BE 5 X5, FE’ (DS 5D S

Options :

Rupert Murdoch
1. %

> Manuel Castells



3 % Steve Job

4 % Bill Gates
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Which of the following kings of ancient India were patrons of Jainism?
@i m0805e® 2k 5NN Treren JSH?

a. Srenika Bimbisara
b. Chandragupta Maurya
C: Kharavela

Options :

aandb
e

bandc
4

3 % aandc

4 % a, bandc
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XXY is
XXYe@:o58

Options :

Turner Syndrome
alela) %05

1. %
Klinefelter Syndrome
85 D0b 2olES
2.9 2
Down Syndrome
o 5
3 % &R Dol
Trisomy Syndrome
B HolEPH
4. %
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Match the following choosing correct option:
$BES oD QoD Dhtotn 2&Tdinsn.

Constitutional Features Sources
oresgol efsseen DEB0en
a. Rule of Law i. German Constitution
egd% Qadreaen atﬁég orezegotisin
b. Directive Principles ii. Australian Constitution
DO Sorjeren @@E}oﬂ; orezegolizin
2 2
C, Concurrent List iii. Irish Constitution
656 edee 205 TregoriEn
d. Suspension of Fundamental iv. British Constitution
Rights during Emergency
SLigwste! S ee ol byl Av] OBA Trezgorisin
srEpeD iﬁtﬁ{g Iho
Code:
B8y
Options :
a-iv b-iii  c-ii d-i
1.¢
5 % a-i b-iii  c-iv  d-ii
3 % a-ii b-iv  c-iii  d-i
a-ii b-iii ¢ d-iv
4, %

Question Number : 145 Question Id : 51714411410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Match items in column-| with items in column-Il and choose the correct option.
H5%-1 &9 woddmeh $B@NE Ao Jir 6B -l 6% wodines® aEHEHED

Column - | Column = [l
DD -1 S5 -l
a.  Third Five Year Plan I. Agriculture.
somtsa) z;’noéa’ntgl EHS 55555%?@'1)5633
b. Fifth Five Year Plan ii. Chinese Aggression
2053 HoUHY, (Herds dar ol
C. Ninth Five Year Plan iii. Jawahar Gram Samridhi Yojana (JGSY)
e?&"&bétsé éDL‘SE{)é} 8laegts 233:b (resh ﬁa’ne}g: @rezid (JGSY)
d. First Five Year Plan iv. Garibi Hatao
068 a’}oﬁﬁa’atiﬂ [DeTEs K88 Sotrst
Code:
5553:
Options:
| % a-iv b-ii c-iii  d-i
a-i b-iii  c-iv  d-ii
2.
3 ¢ a-ii b-iv  c-ii  d-i
4 % a-ii b-iii c-iv d-i
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Assertion (A) : The quality of population in a country is a crucial determinant of
economic development.
Eﬁﬁétﬁm (A) : &8 BEE0SRD srge, Tl @gsvﬂ)aﬁagag Ao &gdﬁﬁo&ﬁn

Reason : A large population can be a burden on the economy, and only a small
population can lead to economic growth.
520600(R) @ @68 2arer ool ejgéaa’ae\),gﬁ gri0 ey argp @QS@&‘S&@@. 55650365 AW

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
A, RBoH “BGE@HS, R A Gng) H6a@hd 8

1. %
Both (A) and (R) are true but (R) is not the correct explanation of (A)
. AR Both HB@DSI, R, A @Bnd) B d8es 506
(A) is correct but (R) is wrong
3 A SBAHHG R HBGHid s0th
(A) is wrong but (R) is correct
4w A 3HB8ahid st R JBahHG
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The slogan “A tree for each child” was coined for
8 A5 2.8 ?:Sé,g e Dareed)” &% NI

Options :

Social forestry programme
- PR @ed e85 Eansin



Clean Air programme
20H1g mrd sty Eosin

Soil conservation programme

3 % 30 HBBEee 5B

Environmental protection programme

4 @ 20N BEee seUgEEhH
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According to our bodies and minds are not separate but connected
B9 [HssEn i Foren, e ) 5D a8 RS’ .88 Bod 6700,

Options :

Embodiment

- ;o&tﬁrm&’m

Ideoclogy
5 % 2P EPEI0

Stratification
%8886
3.% ©



Social Institutions
PoSnY ﬁoc‘gm
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Assertion (A) : The level of tourism interest and activity in a specific area often depends
on a combination of both physical and human geography that come
together, making certain locations more attractive than others.

Eﬁejﬁ)étiea(A) L a8 @Eﬁéé B80S Dol 68 sedsEiben orde, 388 fbcn
KPR TREE DEHop erbhtean. B Ho Y SBen Mifee
TAE08 8B gorre &otrow.
Reason (R) : Climate also influences the level and type of tourism activity.
5°8630(R) : apersiteso Ere Sorghod edgEied), %;mn@ KigrRdo 0B,

Options :

Both (A) and (R) are true
A, RBotH ©BGLKE, R A @ng) HBGhs dDH8es

Both (A) and (R) are true, but (R) is not the correct explanation
, v ARDBo®H DB@DEI, R, A @Bw¥) HBGHE DHBes 5ot

A) is true, but (R) is false.
A DBahEd R HBENG s°th

(A) is false, but (R) is true.
A DBEHHG sotHh R H8ahadd
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Which of the following are voluntary provisions in the 73rd Constitutional Amendment
Act (1992)?

73 & eegort S8 Héysm, 1992 (HseBan & 61D DA RR)0ehR

I.  Minimum age of 21 for contesting elections to Panchayats
Homond o}&&éa}éﬁ 288 Damerd % Sohidy) 21

ii.  Indirect elections to the post of Chairperson of Panchayats at the intermediate and
district levels.
eS8 Rep ﬁgmﬁﬁ Sowrchd Bond 58S e $86%ore AfyEen

li.  Representation of Members of Parliament and State Legislature on Panchayati
Raj institutions.
Sochd ook éoé&j&g sPBhok, ool S 3 S @SR

lv.  Reservation of seats for backward classes
8 ol S5KHeH Hey E:méagﬁé:x

Select the correct answer from the code given below:
DBEHS  DErPErd BIoD6 08 Aoh¥ Dok,

Code:
%553:
Options :
I, il and iv
1. %
ii, 1ii and iv
i, il and iii
3. %

iii and iv



